AEGEER D ERER)

£
E

f

“EToE

=L

<4<
7

7

9\

TH

EX

(|

L
YA

o BR.

x®

T
N

3

¢
TS

_ﬂ%ﬂm/m b,
Z ,.;.r/[&,/f. i

[%](S=1:25,000)

-~
~
/.

1

_
@
@
K&
T |H
iy |
m_mw.mw X1
2|5 (% |
&I |IL|H
gl | L\
qi e |
|, | i
{4
=
A
T
mk
& (ol |oF [ (@K
e
S |HE i
& | |E [
B (e Kl
1 |4 (4 i (e

1:200,000)

iER(S




REMNLOBRERRENS

BX3—1 BREOEZTAOHSLTH,. ELLVEEDSZTAOHITHOBRER | s®z=sE

2 18 5 b O B BHEs 02081052 | % Ed [ w7 SRR TR

| k24 SE

A i
W Lok ;
A T
| s emosthosstsoms Pa— ] I

EEROEEThOHISLDRIR
[] ta%o#mmAi3mER xS
TREOBMICEZHH100kN/miEHE X SR




RIEMBOBERREERZ

ELMVBEENSTADHI OB ER _
EZii [ 7 A TRIR 7

HX3I—1 BEOETNOHDELM, EL e
2 18 5 i 0 fu B EmEs 02081052 [ Bma |

~—

\

N\

IR
100

[ = \ \
A T
[ #LLWER0BTh0H3LBORR N R / / \

REOEThOHILBOEM
[ 1E%osmmsomsl i
TESOBRISESHA100kN/ M S




AIER b AR X EGEH =

BR3—2 BEYICERYTDEEESNAEHRICHEYT DHIE/1) i } i} HEEE | PAAFE
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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 4.64 57.88 | #nS | 000 ~ 4.64| 1.86 9.38 st 1.00 | 6.00 ~ 5.00 57.88 | =nst | 5.00 ~ 5.00| 1.86 9.38
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 593 74.27 | NS | 000 ~ 593 1.82 918 st 1.00 | 6.00 ~ 6.80 74.27 | TS | 5.00 ~ 6.80 | 1.82 918
3 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.46 81.37 | #nS | 000 ~ 6.46| 1.84 9.31 st 1.00 | 6.00 ~ 7.80 81.37 | =hd4 | 5.00 ~ 780 | 1.84 9.51
4 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 477 59.50 | =hLs | 000 ~ 000 1.74 877 st 1.00 | 6.00 ~ 5.00 59.50 | =nS | 5.00 ~ 6.00)| 1.74 877
5 100kN/m##8x5 | 1.00 | 000 ~ 211 132.72 |3m%E#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 1059 ~ 1850 13272 |3m%E#Bz% -~
s 1.00 | 211 ~ 9.90 100.00 | =nst | 0oo ~ 990 | 2.44 12.32 st 1.00 | 6.00 ~ 10.59 100.00 | =nst | 6.00 ~ 1850 2.44 12.32
P 100kN/m%E#8z% | 1.00 | 000 ~ 1.78| 127.33 |3mEiBz% -~ - - -| 100kN/M%#8Z5 | 1.00 | 1053 ~ 1690 12733 |3m&EBZD -~
s 1.00 | 1.78 ~ 956 100.00 | =St | 0.00 ~ 9.66 | 2.37 11.97 st 1.00 | 6.00 ~ 1053 100.00 | =nhst | 6.00 ~ 1690 2.837 11.97
- 100kN/m%E#8z% | 1.00 | 000 ~ 1.12| 116.90 |3mE#Bz% -~ - - -] 100kN/mZ#8z% | 1.00 | 1058 ~ 1420| 116.90 |3mZE#BZ5 -~
s 1.00 | 1.12 ~ 891 100.00 | =nst | 000 ~ 891|214 10.80 st 1.00 | 6.00 ~ 1058 100.00 | =nhst | 5.00 ~ 1420 2.14 10.80
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.92 74.16 | NS | 000 ~ 592 1.86 9.38 st 1.00 | 6.00 ~ 6.90 74.16 | ThSY | 5,00 ~ 6.90 )| 1.86 9.38
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 4.44 55.39 | =nS | 000 ~ 444 1.94 982 st 1.00 | 6.00 ~ 5.00 55.39 | =S | 5.00 ~ 6.00| 1.94 9.82
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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